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1 Issues for the CR

	Company
	Change
	Issue in the CR
	Propose TP

	e.g., Huawei, HiSilicon
	e.g., Change5
	Xxx
	xxx

	Ericsson
	I wonder if the below needs to be updated to reflect that only when higher layers have configured schedulingRequestID, UE shall do the below:

[bookmark: _Toc109217651]5.25	Positioning Measurement Gap Activation/Deactivation Request
If the UE is configured with pre-configured measurement gap, the UE may request the network to activate or deactivate the Positioning measurement gap with UL MAC CE for Positioning Measurement Gap Activation/Deactivation Request in clause 6.1.3.40.

	
	5.25	Positioning Measurement Gap Activation/Deactivation Request
If the UE is configured with pre-configured measurement gap and schedulingRequestID-PosMG-Request as specified in TS 38.331 [5] is configured, the UE may request the network to activate or deactivate the Positioning measurement gap with UL MAC CE for Positioning Measurement Gap Activation/Deactivation Request in clause 6.1.3.40.


	vivo
	Change5
	In the CR, the PPW id field within the MAC CE corresponds to the index in dl-PPW-PreConfigToAddModList-r17. However, current spec supports the multiple-time addition/release of pre-configed PPW, i.e., there may be multiple dl-PPW-PreConfigToAddModList-r17. For example:
Step 1: the AddModList is used to add the PPW 1/2/3 (separately corresponding to index 0/1/2 in the list);
Step 2: the PPW 1/2 is released via dl-PPW-PreConfigToReleaseList-r17;
Step 3: the AddModList is used to add another PPW 1 

One question is what is the index value for the PPW 1 in Step 3.  That is, the “index” is unclear.
We understand the index is based on the list which is maintained in the UE, e.g., the PPWs are ordered by the addition time,  or PPW ID value. 

	[bookmark: _GoBack]Clarify how UE maintain the order of the PPW index list. So the UE and NW have the same understanding.
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